

Accepted Manuscript

Generalized derivation extensions of 3-Lie algebras and corresponding Nambu-Poisson structures

Lina Song, Jun Jiang

PII: S0393-0440(17)30264-4

DOI: <https://doi.org/10.1016/j.geomphys.2017.10.011>

Reference: GEOPHY 3092

To appear in: *Journal of Geometry and Physics*

Received date: 31 July 2017

Accepted date: 21 October 2017

Please cite this article as: L. Song, J. Jiang, Generalized derivation extensions of 3-Lie algebras and corresponding Nambu-Poisson structures, *Journal of Geometry and Physics* (2017), <https://doi.org/10.1016/j.geomphys.2017.10.011>

This is a PDF file of an unedited manuscript that has been accepted for publication. As a service to our customers we are providing this early version of the manuscript. The manuscript will undergo copyediting, typesetting, and review of the resulting proof before it is published in its final form. Please note that during the production process errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.



Generalized derivation extensions of 3-Lie algebras and corresponding Nambu-Poisson structures *

Lina Song and Jun Jiang
Department of Mathematics, Jilin University,
Changchun 130012, Jilin, China
Email: songln@jlu.edu.cn

Abstract

In this paper, we introduce the notion of a generalized derivation on a 3-Lie algebra. We construct a new 3-Lie algebra using a generalized derivation and call it the generalized derivation extension. We show that the corresponding Leibniz algebra on the space of fundamental objects is the double of a matched pair of Leibniz algebras. We also determine the corresponding Nambu-Poisson structures under some conditions.

1 Introduction

The notion of an n -Lie algebra, or a Filippov algebra, was introduced in [10] and have many applications in mathematical physics. See the review article [8] for more details. Ternary Lie algebras are related to Nambu mechanics and Nambu-Poisson structures [22], generalizing Hamiltonian mechanics by using more than one hamiltonian. The algebraic formulation of this theory is due to Takhtajan [25], see also [11]. Moreover, 3-Lie algebras appeared in String Theory. See [4, 16] for classifications of 3-Lie algebras and n -Lie algebras. Deformations of 3-Lie algebras and n -Lie algebras are studied in [9, 26], see [21] for a review. It is very useful to construct new 3-Lie and n -Lie algebras. 3-Lie algebras were constructed using Nambu-Poisson structures in [14, 22, 25]; More generally, one can construct 3-Lie algebras, which are called Jacobian algebras, using a commutative associative algebra with some derivations [10, 23]; 3-Lie algebras can also be constructed from Dirac γ -matrix [13] and quadratic Lie algebras that related to integrable systems [15]; Moreover, R. Bai and her collaborators gave some construction of 3-Lie algebras using Lie algebras and linear functions [3, 6]; Construction of $(n + 1)$ -Lie algebras from n -Lie algebras are studied in [2, 5]. Furthermore, abelian extensions of 3-Lie algebras are studied in [17] using generalized representations, which is a generalization of the usual representation introduced in [20].

The notion of a Leibniz algebra was introduced by Loday [18, 19], which is a noncommutative generalization of a Lie algebra. The notion of a matched pair of Leibniz algebras was introduced in [1], which is an approach to construct new Leibniz algebras. 3-Lie algebras and Leibniz algebras are closely related. Through fundamental objects one may represent a 3-Lie algebra and more generally

⁰ *Keyword: 3-Lie algebra, Leibniz algebra, derivation extension, matched pair, Nambu-Poisson structure*

⁰ *MSC:17A32, 17B40, 20K35, 53D17*

*Research supported by NSFC (11471139) and NSF of Jilin Province (20170101050JC).

an n -Lie algebra by a Leibniz algebra [7], and one can study n -Lie algebras by the corresponding Leibniz algebras.

The purpose of this paper is to give an approach to construct new 3-Lie algebras that generalize the method of derivation extension for Lie algebras. Recall that given a Lie algebra $(\mathfrak{g}, [\cdot, \cdot]_{\mathfrak{g}})$ and a derivation D , we can construct a new Lie algebra structure $[\cdot, \cdot]_D$ on the direct sum $\mathfrak{g} \oplus \mathbb{K}D$, which is called the derivation extension, by

$$[x + k_1 D, y + k_2 D]_D = [x, y]_{\mathfrak{g}} + k_1 D(y) - k_2 D(x), \quad \forall x, y \in \mathfrak{g}, k_1, k_2 \in \mathbb{K}.$$

In [24], the author studied classification of 4-dimensional Lie algebras and Lie-Poisson structures using the method of derivation extension of Lie algebras. However, for 3-Lie algebras, since there are three variables, it is impossible to construct new brackets using the usual derivations on 3-Lie algebras. To solve this difficulty, we introduce the notion of a generalized derivation on a 3-Lie algebra, by which we can construct new 3-Lie algebras, which we call generalized derivation extensions of 3-Lie algebras. We study the corresponding Leibniz algebra on the space of fundamental objects, and show that the Leibniz algebra associated to a generalized derivation extension is a matched pair of Leibniz algebras. Finally, we study the relation with Nambu-Poisson structures. Under some conditions, we give the explicit formulas of the Nambu-Poisson structure corresponding to a generalized derivation extension.

The paper is organized as follows. In Section 2, we give a review on matched pairs of Leibniz algebras, 3-Lie algebras and Nambu-Poisson structures. In Section 3, we introduce the notion of a generalized derivation on a 3-Lie algebra, and show that one can construct new 3-Lie algebras using generalized derivations. In Section 4, we study the corresponding Leibniz algebra on the space of fundamental objects of a generalized derivation extension of 3-Lie algebras. In Section 5, we study the corresponding Nambu-Poisson structure of a generalized derivation extension of 3-Lie algebras.

Acknowledgement: We give our warmest thanks to Yunhe Sheng for very helpful suggestions that improve the paper.

2 Preliminaries

In this paper, we work over an algebraically closed field \mathbb{K} of characteristic 0 and all the vector spaces are over \mathbb{K} .

2.1 Matched pair of Leibniz algebras

A **Leibniz algebra** is a vector space \mathfrak{L} endowed with a linear map $[\cdot, \cdot]_{\mathfrak{L}} : \mathfrak{L} \otimes \mathfrak{L} \longrightarrow \mathfrak{L}$ satisfying

$$[x, [y, z]_{\mathfrak{L}}]_{\mathfrak{L}} = [[x, y]_{\mathfrak{L}}, z]_{\mathfrak{L}} + [y, [x, z]_{\mathfrak{L}}]_{\mathfrak{L}}, \quad \forall x, y, z \in \mathfrak{L}. \quad (1)$$

This is in fact a left Leibniz algebra. In this paper, we only consider left Leibniz algebras. A linear map $D : \mathfrak{L} \longrightarrow \mathfrak{L}$ is called a left derivation on the Leibniz algebra $(\mathfrak{L}, [\cdot, \cdot]_{\mathfrak{L}})$ if

$$D([x, y]_{\mathfrak{L}}) = [D(x), y]_{\mathfrak{L}} + [x, D(y)]_{\mathfrak{L}}, \quad \forall x, y \in \mathfrak{L}.$$

A **representation** of a Leibniz algebra $(\mathfrak{L}, [\cdot, \cdot]_{\mathfrak{L}})$ [19] is a triple (V, ρ^L, ρ^R) , where V is a vector space equipped with two linear maps $\rho^L, \rho^R : \mathfrak{L} \longrightarrow \mathfrak{gl}(V)$ such that the following equalities hold

for $x, y \in \mathfrak{L}$:

$$\rho^L([x, y]_{\mathfrak{L}}) = [\rho^L(x), \rho^L(y)], \quad (2)$$

$$\rho^R([x, y]_{\mathfrak{L}}) = [\rho^L(x), \rho^R(y)], \quad (3)$$

$$\rho^R(y) \circ \rho^L(x) = -\rho^R(y) \circ \rho^R(x). \quad (4)$$

Definition 2.1. ([1]) A pair $(\mathfrak{G}, \mathfrak{H})$ of two Leibniz algebras is called a **matched pair** if there exist a representation (ρ_1^L, ρ_1^R) of \mathfrak{G} on \mathfrak{H} and a representation of (ρ_2^L, ρ_2^R) of \mathfrak{H} on \mathfrak{G} such that the identities

$$(i) \quad \rho_1^R(x)[u, v]_{\mathfrak{H}} = [u, \rho_1^R(x)v]_{\mathfrak{H}} - [v, \rho_1^R(x)u]_{\mathfrak{H}} + \rho_1^R(\rho_2^L(v)x)u - \rho_1^R(\rho_2^L(u)x)v;$$

$$(ii) \quad \rho_1^L(x)[u, v]_{\mathfrak{H}} = [\rho_1^L(x)u, v]_{\mathfrak{H}} + [u, \rho_1^L(x)v]_{\mathfrak{H}} + \rho_1^L(\rho_2^R(u)x)v + \rho_1^R(\rho_2^R(v)x)u;$$

$$(iii) \quad [\rho_1^L(x)u, v]_{\mathfrak{H}} + \rho_1^L(\rho_2^R(u)x)v + [\rho_1^R(x)u, v]_{\mathfrak{H}} + \rho_1^L(\rho_2^L(u)x)v = 0;$$

$$(iv) \quad \rho_2^R(u)[x, y]_{\mathfrak{G}} = [x, \rho_2^R(u)y]_{\mathfrak{G}} - [y, \rho_2^R(u)x]_{\mathfrak{G}} + \rho_2^R(\rho_1^L(y)u)x - \rho_2^R(\rho_1^L(x)u)y;$$

$$(v) \quad \rho_2^L(u)[x, y]_{\mathfrak{G}} = [\rho_2^L(u)x, y]_{\mathfrak{G}} + [x, \rho_2^L(u)y]_{\mathfrak{G}} + \rho_2^L(\rho_1^R(x)u)y + \rho_2^R(\rho_1^R(y)u)x;$$

$$(vi) \quad [\rho_2^L(u)x, y]_{\mathfrak{G}} + \rho_2^L(\rho_1^R(x)u)y + [\rho_2^R(u)x, y]_{\mathfrak{G}} + \rho_2^L(\rho_1^L(x)u)y = 0,$$

hold for all $x, y \in \mathfrak{G}$ and $u, v \in \mathfrak{H}$.

Lemma 2.2. ([1]) Given a matched pair $(\mathfrak{G}, \mathfrak{H})$ of Leibniz algebras, there is a Leibniz algebra structure $\mathfrak{G} \bowtie \mathfrak{H}$ on the direct sum vector space $\mathfrak{G} \oplus \mathfrak{H}$ with bracket

$$[x + u, y + v]_{\mathfrak{G} \bowtie \mathfrak{H}} = [x, y]_{\mathfrak{G}} + \rho_2^R(v)x + \rho_2^L(u)y + [u, v]_{\mathfrak{H}} + \rho_1^L(x)v + \rho_1^R(y)u.$$

Conversely, if $\mathfrak{G} \oplus \mathfrak{H}$ has a Leibniz algebra structure for which \mathfrak{G} and \mathfrak{H} are Leibniz subalgebras, then the representations defined by

$$[x, u]_{\mathfrak{G} \oplus \mathfrak{H}} = \rho_2^R(u)x + \rho_1^L(x)u, \quad [u, x]_{\mathfrak{G} \oplus \mathfrak{H}} = \rho_2^L(u)x + \rho_1^R(x)u,$$

endow the couple $(\mathfrak{G}, \mathfrak{H})$ with a structure of a matched pair.

Definition 2.3. ([10]) A **3-Lie algebra** is a vector space \mathfrak{g} together with a skew-symmetric linear map $[\cdot, \cdot, \cdot]_{\mathfrak{g}} : \otimes^3 \mathfrak{g} \rightarrow \mathfrak{g}$ such that the following **Fundamental Identity (FI)** holds:

$$\begin{aligned} & F_{x_1, x_2, x_3, x_4, x_5} \\ & \triangleq [x_1, x_2, [x_3, x_4, x_5]_{\mathfrak{g}}]_{\mathfrak{g}} - [[x_1, x_2, x_3]_{\mathfrak{g}}, x_4, x_5]_{\mathfrak{g}} - [x_3, [x_1, x_2, x_4]_{\mathfrak{g}}, x_5]_{\mathfrak{g}} - [x_3, x_4, [x_1, x_2, x_5]_{\mathfrak{g}}]_{\mathfrak{g}} \\ & = 0. \end{aligned} \quad (5)$$

A linear map $D : \mathfrak{g} \rightarrow \mathfrak{g}$ is called a derivation on the 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ if the following equality holds:

$$D([x, y, z]_{\mathfrak{g}}) = [D(x), y, z]_{\mathfrak{g}} + [x, D(y), z]_{\mathfrak{g}} + [x, y, D(z)]_{\mathfrak{g}}, \quad \forall x, y, z \in \mathfrak{g}.$$

For all $x, y \in \mathfrak{g}$, define $\text{ad}_{x,y} : \mathfrak{g} \rightarrow \mathfrak{g}$ by

$$\text{ad}_{x,y}z = [x, y, z]_{\mathfrak{g}}.$$

Then $\text{ad}_{x,y}$ is a derivation on \mathfrak{g} , which is called an inner derivation.

Elements in $\wedge^2 \mathfrak{g}$ are called **fundamental objects** of the 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$. There is a bilinear operation $[\cdot, \cdot]_{\mathfrak{F}}$ on $\wedge^2 \mathfrak{g}$, which is given by

$$[\mathfrak{X}, \mathfrak{Y}]_{\mathfrak{F}} = [x_1, x_2, y_1]_{\mathfrak{g}} \wedge y_2 + y_1 \wedge [x_1, x_2, y_2]_{\mathfrak{g}}, \quad \forall \mathfrak{X} = x_1 \wedge x_2, \mathfrak{Y} = y_1 \wedge y_2. \quad (6)$$

It is well-known that $(\wedge^2 \mathfrak{g}, [\cdot, \cdot]_{\mathfrak{F}})$ is a Leibniz algebra [7], which plays an important role in the theory of 3-Lie algebras.

Proposition 2.4. ([4]) *There is a unique non-trivial 3-dimensional complex 3-Lie algebra. It has a basis $\{e_1, e_2, e_3\}$ with respect to which the non-zero product is given by $[e_1, e_2, e_3] = e_1$.*

Proposition 2.5. ([4]) *Let A be a non-trivial 4-dimensional complex 3-Lie algebra. Then A has a basis $\{e_1, e_2, e_3, e_4\}$ with respect to which the product of the 3-Lie algebra is given by one of the following:*

- (a) $[e_1, e_2, e_3] = e_4, \quad [e_2, e_3, e_4] = e_1, \quad [e_1, e_3, e_4] = e_2, \quad [e_1, e_2, e_4] = e_3;$
- (b) $[e_1, e_2, e_3] = e_1;$
- (c) $[e_2, e_3, e_4] = e_1;$
- (d) $[e_2, e_3, e_4] = e_1, \quad [e_1, e_3, e_4] = e_2;$
- (e) $[e_2, e_3, e_4] = e_2, \quad [e_1, e_3, e_4] = e_1;$
- (f) $[e_2, e_3, e_4] = \alpha e_1 + e_2, \quad \alpha \neq 0, \quad [e_1, e_3, e_4] = e_2;$
- (g) $[e_2, e_3, e_4] = e_1, \quad [e_1, e_3, e_4] = e_2, \quad [e_1, e_2, e_4] = e_3.$

2.2 Nambu-Poisson structures

Nambu-Poisson structures were introduced in [25] by Takhtajan in order to find an axiomatic formalism for Nambu-mechanics which is a generalization of Hamiltonian mechanics.

Definition 2.6. ([25]) *A Nambu-Poisson structure of order $n - 1$ on M is an n -linear map $\{\cdot, \dots, \cdot\} : C^\infty(M) \times \dots \times C^\infty(M) \longrightarrow C^\infty(M)$ satisfying the following properties:*

- (1) *skew-symmetry, i.e. for all $f_1, \dots, f_n \in C^\infty(M)$ and $\sigma \in \text{Sym}(n)$,*

$$\{f_1, \dots, f_n\} = (-1)^{|\sigma|} \{f_{\sigma(1)}, \dots, f_{\sigma(n)}\};$$

- (2) *the Leibniz rule, i.e. for all $g \in C^\infty(M)$, we have*

$$\{f_1 g, f_2, \dots, f_n\} = f_1 \{g, f_2, \dots, f_n\} + g \{f_1, f_2, \dots, f_n\};$$

- (3) *integrability condition, i.e. for all $f_1, \dots, f_{n-1}, g_1, \dots, g_n \in C^\infty(M)$,*

$$\{f_1, \dots, f_{n-1}, \{g_1, \dots, g_n\}\} = \sum_{i=1}^n \{g_1, \dots, \{f_1, \dots, f_{n-1}, g_i\}, \dots, g_n\}.$$

In particular, a Nambu-Poisson structure of order 1 is exactly a usual Poisson structure. Similar to the fact that a Poisson structure is determined by a bivector field, a Nambu-Poisson structure of order $n - 1$ is determined by an n -vector field $\pi \in \mathfrak{X}^n(M)$ such that

$$\{f_1, \dots, f_n\} = \pi(df_1, \dots, df_n).$$

An n -vector field $\pi \in \mathfrak{X}^n(M)$ is a Nambu-Poisson structure if and only if for all $f_1, \dots, f_{n-1} \in C^\infty(M)$, we have

$$L_{\pi^\sharp(df_1 \wedge \dots \wedge df_{n-1})}\pi = 0,$$

where $\pi^\sharp : \wedge^{n-1}T^*M \longrightarrow TM$ is defined by

$$\langle \pi^\sharp(\xi_1 \wedge \dots \wedge \xi_{n-1}), \xi_n \rangle = \pi(\xi_1 \wedge \dots \wedge \xi_{n-1} \wedge \xi_n), \quad \forall \xi_1, \dots, \xi_n \in \Omega^1(M).$$

3 Generalized derivation extensions of 3-Lie algebras

In this section, we introduce the notion of a generalized derivation on a 3-Lie algebra, by which we can construct a new 3-Lie algebra, called the generalized derivation extension of 3-Lie algebras.

Definition 3.1. Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra. A linear map $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ is called a **generalized derivation**, if for all $x, y, z, u \in \mathfrak{g}$, the following conditions are satisfied:

- (a) $D(x, [y, z, u]_{\mathfrak{g}}) = [D(x, y), z, u]_{\mathfrak{g}} + [y, D(x, z), u]_{\mathfrak{g}} + [y, z, D(x, u)]_{\mathfrak{g}};$
- (b) $D([x, y, z]_{\mathfrak{g}}, u) + D(z, [x, y, u]_{\mathfrak{g}}) = [x, y, D(z, u)]_{\mathfrak{g}} - [z, u, D(x, y)]_{\mathfrak{g}};$
- (c) $D(x, D(y, z)) + D(y, D(z, x)) + D(z, D(x, y)) = 0.$

We analyze the three conditions in the above definition. First we have

Lemma 3.2. Let $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ be a generalized derivation on a 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$. Then D defines a Lie algebra structure on the vector space \mathfrak{g} .

Proof. It follows from Condition (c) in Definition 3.1. ■

For a linear map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$, define $D^\sharp : \mathfrak{g} \longrightarrow \mathfrak{gl}(\mathfrak{g})$ by

$$D^\sharp(x)(y) = D(x, y), \quad \forall x, y \in \mathfrak{g}.$$

Lemma 3.3. Let $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ be a generalized derivation on a 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$. Then for all $x \in \mathfrak{g}$, $D^\sharp(x)$ is a derivation on the 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$.

Proof. It follows from Condition (a) in Definition 3.1. ■

Consider the Leibniz algebra $(\wedge^2 \mathfrak{g}, [\cdot, \cdot]_{\mathfrak{F}})$. Define $\rho^L : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{gl}(\mathfrak{g})$ by

$$\rho^L(x \wedge y)(z) = [x, y, z]_{\mathfrak{g}}, \quad \forall x \wedge y \in \wedge^2 \mathfrak{g}, z \in \mathfrak{g}.$$

Lemma 3.4. Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra. Then $(\rho^L, \rho^R = -\rho^L)$ is a representation of the Leibniz algebra $(\wedge^2 \mathfrak{g}, [\cdot, \cdot]_{\mathfrak{F}})$ on \mathfrak{g} . Consequently, we have a semidirect product Leibniz algebra $(\wedge^2 \mathfrak{g} \oplus \mathfrak{g}, [\cdot, \cdot]_s)$, where the Leibniz bracket is given by

$$[x_1 \wedge y_1 + z_1, x_2 \wedge y_2 + z_2]_s = [x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} + [x_1, y_1, z_2]_{\mathfrak{g}} - [x_2, y_2, z_1]_{\mathfrak{g}}, \quad (7)$$

for all $x_1, y_1, z_1, x_2, y_2, z_2 \in \mathfrak{g}$.

Proof. It is straightforward by the Fundamental Identity. ■

Lemma 3.5. *Let $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ be a generalized derivation on a 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$. Then $\begin{pmatrix} 0 & 0 \\ D & 0 \end{pmatrix}$ is a left derivation on the Leibniz algebra $(\wedge^2 \mathfrak{g} \oplus \mathfrak{g}, [\cdot, \cdot]_s)$.*

Proof. By Condition (b) in Definition 3.1, we have

$$\begin{aligned} & \begin{pmatrix} 0 & 0 \\ D & 0 \end{pmatrix} [x_1 \wedge y_1 + z_1, x_2 \wedge y_2 + z_2]_s - \begin{pmatrix} 0 & 0 \\ D & 0 \end{pmatrix} (x_1 \wedge y_1 + z_1), x_2 \wedge y_2 + z_2]_s \\ & - [x_1 \wedge y_1 + z_1, \begin{pmatrix} 0 & 0 \\ D & 0 \end{pmatrix} (x_2 \wedge y_2 + z_2)]_s \\ & = D[x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} - [D(x_1, y_1), x_2 \wedge y_2 + z_2]_s - [x_1 \wedge y_1 + z_1, D(x_2, y_2)]_s \\ & = D[x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} + [D(x_1, y_1), x_2, y_2]_{\mathfrak{g}} - [x_1, y_1, D(x_2, y_2)]_{\mathfrak{g}} \\ & = 0, \end{aligned}$$

which implies the conclusion. ■

For all $v \in \mathfrak{g}$, define $\mathfrak{ad} : \mathfrak{g} \rightarrow \text{Hom}(\wedge^2 \mathfrak{g}, \mathfrak{g})$ by

$$\mathfrak{ad}_v(x, y) = [v, x, y]_{\mathfrak{g}}. \quad (8)$$

Then we have

Lemma 3.6. *For all $v \in \mathfrak{g}$, \mathfrak{ad}_v is a generalized derivation on the 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$, which is called an inner generalized derivation.*

Proof. First for all $x \in \mathfrak{g}$, we have

$$(\mathfrak{ad}_v)^{\sharp}(x) = \mathfrak{ad}_{v,x},$$

which implies that Condition (a) in Definition 3.1 holds.

For all $x, y, z, u \in \mathfrak{g}$, by the Fundamental Identity, we have

$$\begin{aligned} & \mathfrak{ad}_v([x, y, z]_{\mathfrak{g}}, u) + \mathfrak{ad}_v(z, [x, y, u]_{\mathfrak{g}}) - [x, y, \mathfrak{ad}_v(z, u)]_{\mathfrak{g}} + [z, u, \mathfrak{ad}_v(x, y)]_{\mathfrak{g}} \\ & = [v, [x, y, z]_{\mathfrak{g}}, u]_{\mathfrak{g}} + [v, z, [x, y, u]_{\mathfrak{g}}]_{\mathfrak{g}} - [x, y, [v, z, u]_{\mathfrak{g}}]_{\mathfrak{g}} + [z, u, [v, x, y]_{\mathfrak{g}}]_{\mathfrak{g}} \\ & = 0, \end{aligned}$$

which implies that Condition (b) in Definition 3.1 holds.

Finally, by the Fundamental Identity, we can deduce that \mathfrak{ad}_v defines a Lie algebra structure. The proof is finished. ■

Remark 3.7. *A derivation, no matter on a Lie algebra or a 3-Lie algebra can be viewed as a 1-cocycle with the coefficient in the adjoint representation. It is interesting to investigate whether one can realize a generalized derivation as a 1-cocycle, and an inner generalized derivation as a 1-coboundary, associated to some cohomological complex.*

For any linear map $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$, denote by $\mathbb{K}D$ the 1-dimensional vector space generated by D . On the direct sum $\mathfrak{g} \oplus \mathbb{K}D$, define a totally skew-symmetric linear map $[\cdot, \cdot, \cdot]_D : \wedge^3(\mathfrak{g} \oplus \mathbb{K}D) \rightarrow \mathfrak{g} \oplus \mathbb{K}D$ by

$$[x + k_1 D, y + k_2 D, z + k_3 D]_D = [x, y, z]_{\mathfrak{g}} + k_1 D(y, z) + k_2 D(z, x) + k_3 D(x, y), \quad (9)$$

for all $x, y, z \in \mathfrak{g}$, $k_1, k_2, k_3 \in \mathbb{K}$.

Theorem 3.8. *Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra and $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ a linear map. Then $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ is a 3-Lie algebra if and only if D is a generalized derivation on \mathfrak{g} .*

Proof. For all $x, y, z, u, v \in \mathfrak{g}$ and $k_i \in \mathbb{K}$, $i = 1, \dots, 5$, by direct computation, we have

$$\begin{aligned}
 & [x + k_1 D, y + k_2 D, [z + k_3 D, u + k_4 D, v + k_5 D]_D]_D \\
 = & [x + k_1 D, y + k_2 D, [z, u, v]_{\mathfrak{g}} + k_3 D(u, v) + k_4 D(v, z) + k_5 D(z, u)]_D \\
 = & [x, y, [z, u, v]_{\mathfrak{g}}]_{\mathfrak{g}} + [x, y, k_3 D(u, v)]_{\mathfrak{g}} + [x, y, k_4 D(v, z)]_{\mathfrak{g}} + [x, y, k_5 D(z, u)]_{\mathfrak{g}} \\
 & + k_1 D(y, [z, u, v]_{\mathfrak{g}}) + k_1 D(y, k_3 D(u, v)) + k_1 D(y, k_4 D(v, z)) + k_1 D(y, k_5 D(z, u)) \\
 & + k_2 D([z, u, v]_{\mathfrak{g}}, x) + k_2 D(k_3 D(u, v), x) + k_2 D(k_4 D(v, z), x) + k_2 D(k_5 D(z, u), x), \\
 & [[x + k_1 D, y + k_2 D, z + k_3 D]_D, u + k_4 D, v + k_5 D]_D \\
 = & [[x, y, z]_{\mathfrak{g}} + k_1 D(y, z) + k_2 D(z, x) + k_3 D(x, y), u + k_4 D, v + k_5 D]_D \\
 = & [[x, y, z]_{\mathfrak{g}}, u, v]_{\mathfrak{g}} + [k_1 D(y, z), u, v]_{\mathfrak{g}} + [k_2 D(z, x), u, v]_{\mathfrak{g}} + [k_3 D(x, y), u, v]_{\mathfrak{g}} \\
 & + k_4 D(v, [x, y, z]_{\mathfrak{g}}) + k_4 D(v, k_1 D(y, z)) + k_4 D(v, k_2 D(z, x)) + k_4 D(v, k_3 D(x, y)) \\
 & + k_5 D([x, y, z]_{\mathfrak{g}}, u) + k_5 D(k_1 D(y, z), u) + k_5 D(k_2 D(z, x), u) + k_5 D(k_3 D(x, y), u), \\
 & [z + k_3 D, [x + k_1 D, y + k_2 D, u + k_4 D]_D, v + k_5 D]_D \\
 = & [z + k_3 D, [x, y, u]_{\mathfrak{g}} + k_1 D(y, u) + k_2 D(u, x) + k_4 D(x, y), v + k_5 D]_D \\
 = & [z, [x, y, u]_{\mathfrak{g}}, v]_{\mathfrak{g}} + [z, k_1 D(y, u), v]_{\mathfrak{g}} + [z, k_2 D(u, x), v]_{\mathfrak{g}} + [z, k_4 D(x, y), v]_{\mathfrak{g}} \\
 & + k_3 D([x, y, u]_{\mathfrak{g}}, v) + k_3 D(k_1 D(y, u), v) + k_3 D(k_2 D(u, x), v) + k_3 D(k_4 D(x, y), v) \\
 & + k_5 D(z, [x, y, u]_{\mathfrak{g}}) + k_5 D(z, k_1 D(y, u)) + k_5 D(z, k_2 D(u, x)) + k_5 D(z, k_4 D(x, y)),
 \end{aligned}$$

and

$$\begin{aligned}
 & [z + k_3 D, u + k_4 D, [x + k_1 D, y + k_2 D, v + k_5 D]_D]_D \\
 = & [z + k_3 D, u + k_4 D, [x, y, v]_{\mathfrak{g}} + k_1 D(y, v) + k_2 D(v, x) + k_5 D(x, y)]_D \\
 = & [z, u, [x, y, v]_{\mathfrak{g}}]_{\mathfrak{g}} + [z, u, k_1 D(y, v)]_{\mathfrak{g}} + [z, u, k_2 D(v, x)]_{\mathfrak{g}} + [z, u, k_5 D(x, y)]_{\mathfrak{g}} \\
 & + k_3 D(u, [x, y, v]_{\mathfrak{g}}) + k_3 D(u, k_1 D(y, v)) + k_3 D(u, k_2 D(v, x)) + k_3 D(u, k_5 D(x, y)) \\
 & + k_4 D([x, y, v]_{\mathfrak{g}}, z) + k_4 D(k_1 D(y, v), z) + k_4 D(k_2 D(v, x), z) + k_4 D(k_5 D(x, y), z).
 \end{aligned}$$

Define $\Delta, \Theta : \otimes^4 \mathfrak{g} \longrightarrow \mathfrak{g}$ and $\Lambda : \otimes^3 \mathfrak{g} \longrightarrow \mathfrak{g}$ by

$$\begin{aligned}
 \Delta(x, y, z, u) &= D(x, [y, z, u]_{\mathfrak{g}}) - [D(x, y), z, u]_{\mathfrak{g}} - [y, D(x, z), u]_{\mathfrak{g}} - [y, z, D(x, u)]_{\mathfrak{g}}, \\
 \Theta(x, y, z, u) &= D([x, y, z]_{\mathfrak{g}}, u) + D(z, [x, y, u]_{\mathfrak{g}}) - [x, y, D(z, u)]_{\mathfrak{g}} + [z, u, D(x, y)]_{\mathfrak{g}}, \\
 \Lambda(x, y, z) &= D(x, D(y, z)) + D(y, D(z, x)) + D(z, D(x, y)).
 \end{aligned}$$

Then $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ is a 3-Lie algebra if and only if the following equalities hold:

$$\begin{aligned}
 k_1 \Delta(y, z, u, v) &= 0, & k_2 \Delta(x, z, u, v) &= 0, \\
 k_3 \Theta(x, y, u, v) &= 0, & k_4 \Theta(x, y, z, v) &= 0, & k_5 \Theta(x, y, z, u) &= 0, \\
 k_1 k_3 \Lambda(y, u, v) &= 0, & k_1 k_4 \Lambda(y, z, v) &= 0, & k_1 k_5 \Lambda(y, z, u) &= 0, \\
 k_2 k_3 \Lambda(x, u, v) &= 0, & k_2 k_4 \Lambda(x, z, v) &= 0, & k_2 k_5 \Lambda(x, z, u) &= 0.
 \end{aligned}$$

Therefore, $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ is a 3-Lie algebra if and only if D is generalized derivation. The proof is finished. ■

Remark 3.9. In [12, Example 1], the author give a way to construct a 3-Lie algebra from a Lie algebra. Since a generalized derivation gives a Lie algebra structure naturally, the generalized derivation extension can be viewed as a generalization of the approach given in [12] in some sense.

As expected, if two generalized derivation are differed by an inner generalized derivation, then the corresponding generalized extension are isomorphic.

Proposition 3.10. Let D and D' be two generalized derivation on a 3-Lie algebra $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$. If there exists some $v \in \mathfrak{g}$ such that $D = D' + \mathfrak{ad}_v$, then the corresponding generalized derivation extensions $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ and $(\mathfrak{g} \oplus \mathbb{K}D', [\cdot, \cdot, \cdot]_{D'})$ are isomorphic.

Proof. Define $\bar{v} : \mathbb{K}D \longrightarrow \mathfrak{g}$ by

$$\bar{v}(kD) = kv, \quad \forall k \in \mathbb{K}.$$

Then $\begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix}$ is an isomorphism between 3-Lie algebras $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ and $(\mathfrak{g} \oplus \mathbb{K}D', [\cdot, \cdot, \cdot]_{D'})$. In fact, for all $x, y, z \in \mathfrak{g}$ and $k_1, k_2, k_3 \in \mathbb{K}$, we have

$$\begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix} [x + k_1D, y + k_2D, z + k_3D]_D = [x, y, z]_{\mathfrak{g}} + k_1D(y, z) + k_2D(z, x) + k_3D(x, y),$$

and

$$\begin{aligned} & \left[\begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix} (x + k_1D), \begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix} (y + k_2D), \begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix} (z + k_3D) \right]_{D'} \\ &= [x + k_1v + k_1D', y + k_2v + k_2D', z + k_3v + k_3D']_{D'} \\ &= [x + k_1v, y + k_2v, z + k_3v]_{\mathfrak{g}} + k_1D'(y + k_2v, z + k_3v) + k_2D'(z + k_3v, x + k_1v) \\ &\quad + k_3D'(x + k_1v, y + k_2v) \\ &= [x, y, z]_{\mathfrak{g}} + k_1[v, y, z]_{\mathfrak{g}} + k_2[v, z, x]_{\mathfrak{g}} + k_3[v, x, y]_{\mathfrak{g}} + k_1D'(y, z) + k_2D'(z, x) + k_3D'(x, y). \end{aligned}$$

Thus by $D = D' + \mathfrak{ad}_v$, we deduce that $\begin{pmatrix} \text{Id}_{\mathfrak{g}} & \bar{v} \\ 0 & 1 \end{pmatrix}$ is an isomorphism between 3-Lie algebras. ■

Example 3.11. Let \mathfrak{g} be a 2-dimensional trivial 3-Lie algebra with a basis $\{e_1, e_2\}$. Then $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_1 \wedge e_2) = e_1 \tag{10}$$

is a generalized derivation on the 2-dimensional trivial 3-Lie algebra \mathfrak{g} . Acturally, any non-trivial 2-dimensional Lie algebra is isomorphic to the one given by (10). The 3-Lie algebra obtained by generalized derivation is exactly the one given in Proposition 2.4. Therefore, any 3-dimensional 3-Lie algebra can be realized as a generalized derivation extension.

Example 3.12. Let \mathfrak{g} be a 3-dimensional abelian 3-Lie algebra with a basis $\{e_1, e_2, e_3\}$.

(i) the map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_2 \wedge e_3) = e_1, \quad D(e_1 \wedge e_3) = 0, \quad D(e_1 \wedge e_2) = 0 \tag{11}$$

is a generalized derivation on the 3-dimensional abelian 3-Lie algebra \mathfrak{g} . The 3-Lie algebra obtained by generalized derivation is exactly the one given by (c) in Proposition 2.5.

(ii) the map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_2 \wedge e_3) = e_1, \quad D(e_1 \wedge e_3) = e_2, \quad D(e_1 \wedge e_2) = 0 \quad (12)$$

is a generalized derivation on the 3-dimensional abelian 3-Lie algebra \mathfrak{g} . The 3-Lie algebra obtained by generalized derivation is exactly the one given by (d) in Proposition 2.5.

(iii) the map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_2 \wedge e_3) = e_2, \quad D(e_1 \wedge e_3) = e_1, \quad D(e_1 \wedge e_2) = 0 \quad (13)$$

is a generalized derivation on the 3-dimensional abelian 3-Lie algebra \mathfrak{g} . The 3-Lie algebra obtained by generalized derivation is exactly the one given by (e) in Proposition 2.5.

(iv) the map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_2 \wedge e_3) = \alpha e_1 + e_2, \quad D(e_1 \wedge e_3) = e_2, \quad D(e_1 \wedge e_2) = 0 \quad (14)$$

is a generalized derivation on the 3-dimensional abelian 3-Lie algebra \mathfrak{g} . The 3-Lie algebra obtained by generalized derivation is exactly the one given by (f) in Proposition 2.5.

(v) the map $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ defined by

$$D(e_2 \wedge e_3) = e_1, \quad D(e_1 \wedge e_3) = e_2, \quad D(e_1 \wedge e_2) = e_3 \quad (15)$$

is a generalized derivation on the 3-dimensional abelian 3-Lie algebra \mathfrak{g} . The 3-Lie algebra obtained by generalized derivation is exactly the one given by (g) in Proposition 2.5.

4 Matched pairs of Leibniz algebras

In this section, we always assume that $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ is a 3-Lie algebra and $D : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{g}$ is a generalized derivation on \mathfrak{g} . In the last section, we have obtain a 3-Lie algebra structure on $\mathfrak{g} \oplus \mathbb{K}D$. In this section, we analyze the corresponding Leibniz algebra structure on the space of fundamental objects. Note that $\wedge^2(\mathfrak{g} \oplus \mathbb{K}D) \cong (\wedge^2 \mathfrak{g}) \oplus (\mathfrak{g} \otimes \mathbb{K}D)$ naturally.

First we introduce a representation of the Leibniz algebra $(\wedge^2 \mathfrak{g}, [\cdot, \cdot]_{\mathfrak{F}})$ on $\mathfrak{g} \otimes \mathbb{K}D$. Define $\rho_1^L, \rho_1^R : \wedge^2 \mathfrak{g} \longrightarrow \mathfrak{gl}(\mathfrak{g} \otimes \mathbb{K}D)$ by

$$\rho_1^L(x \wedge y)(u \otimes D) = [x, y, u]_{\mathfrak{g}} \otimes D, \quad (16)$$

$$\rho_1^R(x \wedge y)(u \otimes D) = 0, \quad (17)$$

for all $x, y, u \in \mathfrak{g}$. Then we have

Lemma 4.1. *With the above notations, (ρ_1^L, ρ_1^R) is a representation of the Leibniz algebra $(\wedge^2 \mathfrak{g}, [\cdot, \cdot]_{\mathfrak{F}})$ on $\mathfrak{g} \otimes \mathbb{K}D$.*

Proof. For all $x, y, u, v, w \in \mathfrak{g}$, by direct computation, we have

$$\begin{aligned} \rho_1^L([u \wedge v, w \wedge x]_{\mathfrak{F}})(y \otimes D) &= \rho_1^L([u, v, w]_{\mathfrak{g}} \wedge x + w \wedge [u, v, x]_{\mathfrak{g}})(y \otimes D) \\ &= [[u, v, w]_{\mathfrak{g}}, x, y]_{\mathfrak{g}} \otimes D + [w, [u, v, x]_{\mathfrak{g}}, y]_{\mathfrak{g}} \otimes D, \\ [\rho_1^L(u \wedge v), \rho_1^L(w \wedge x)](y \otimes D) &= \rho_1^L(u \wedge v) \rho_1^L(w \wedge x)(y \otimes D) - \rho_1^L(w \wedge x) \rho_1^L(u \wedge v)(y \otimes D) \\ &= [u, v, [w, x, y]_{\mathfrak{g}}]_{\mathfrak{g}} \otimes D - [w, x, [u, v, y]_{\mathfrak{g}}]_{\mathfrak{g}} \otimes D. \end{aligned}$$

By the Fundamental Identity, we deduce that

$$\rho_1^L([u \wedge v, w \wedge x]_F) = [\rho_1^L(u \wedge v), \rho_1^L(w \wedge x)].$$

Since $\rho_1^R = 0$, it is obvious that (ρ_1^L, ρ_1^R) is a representation of the Leibniz algebra $\wedge^2 \mathfrak{g}$ on $\mathfrak{g} \otimes \mathbb{K}D$. The proof is finished. ■

On the tensor space $\mathfrak{g} \otimes \mathbb{K}D$, define a skewsymmetric linear map $\{\cdot, \cdot\} : \wedge^2(\mathfrak{g} \otimes \mathbb{K}D) \longrightarrow \mathfrak{g} \otimes \mathbb{K}D$ by

$$\{u \otimes D, v \otimes D\} = -D(u, v) \otimes D. \quad (18)$$

Then we have

Proposition 4.2. *With the above notations, $(\mathfrak{g} \otimes \mathbb{K}D, \{\cdot, \cdot\})$ is a Lie algebra.*

Proof. For all $u, v, w \in \mathfrak{g}$, by Condition (c) in Definition 3.1, we have

$$\begin{aligned} & \{u \otimes D, \{v \otimes D, w \otimes D\}\} + \{v \otimes D, \{w \otimes D, u \otimes D\}\} + \{w \otimes D, \{u \otimes D, v \otimes D\}\} \\ &= \{u \otimes D, D(w, v) \otimes D\} + \{v \otimes D, D(u, w) \otimes D\} + \{w \otimes D, D(v, u) \otimes D\} \\ &= (D(D(w, v), u) + D(D(u, w), v) + D(D(v, u), w)) \otimes D \\ &= 0. \end{aligned}$$

Thus, $(\mathfrak{g} \otimes \mathbb{K}D, \{\cdot, \cdot\})$ is a Lie algebra. ■

Now we view $\mathfrak{g} \otimes \mathbb{K}D$ as a Leibniz algebra and define $\rho_2^L, \rho_2^R : \mathfrak{g} \otimes \mathbb{K}D \longrightarrow \mathfrak{gl}(\wedge^2 \mathfrak{g})$ by

$$\begin{aligned} \rho_2^L(u \otimes D)(x \wedge y) &= D(x, u) \wedge y + x \wedge D(y, u), \\ \rho_2^R(u \otimes D)(x \wedge y) &= u \wedge D(x, y). \end{aligned}$$

Lemma 4.3. *With the above notations, (ρ_2^L, ρ_2^R) is a representation of the Leibniz algebra $(\mathfrak{g} \otimes \mathbb{K}D, \{\cdot, \cdot\})$ on $\wedge^2 \mathfrak{g}$.*

Proof. For all $u, v, x, y \in \mathfrak{g}$, we have

$$\begin{aligned} \rho_2^L(\{u \otimes D, v \otimes D\})(x \wedge y) &= \rho_2^L(-D(u, v) \otimes D)(x \wedge y) \\ &= -D(x, D(u, v)) \wedge y - x \wedge D(y, D(u, v)), \end{aligned}$$

and

$$\begin{aligned} & [\rho_2^L(u \otimes D), \rho_2^L(v \otimes D)](x \wedge y) \\ &= \rho_2^L(u \otimes D)\rho_2^L(v \otimes D)(x \wedge y) - \rho_2^L(v \otimes D)\rho_2^L(u \otimes D)(x \wedge y) \\ &= \rho_2^L(u \otimes D)(D(x, v) \wedge y + x \wedge D(y, v)) - \rho_2^L(v \otimes D)(D(x, u) \wedge y + x \wedge D(y, u)) \\ &= -(D(D(x, u), v) - D(D(x, v), u)) \wedge y - x \wedge (D(D(y, u), v) - D(D(y, v), u)). \end{aligned}$$

By Condition (c) in Definition 3.1, we have

$$\rho_2^L(\{u \otimes D, v \otimes D\}) = [\rho_2^L(u \otimes D), \rho_2^L(v \otimes D)].$$

Obviously, we have

$$\rho_2^R(\{u \otimes D, v \otimes D\})(x \wedge y) = \rho_2^R(-D(u, v) \otimes D)(x \wedge y) = -D(u, v) \wedge D(x, y).$$

By Condition (c) in Definition 3.1, we have

$$\begin{aligned}
 & [\rho_2^L(u \otimes D), \rho_2^R(v \otimes D)](x \wedge y) \\
 = & \rho_2^L(u \otimes D)(v \wedge D(x, y)) - \rho_2^R(v \otimes D)(D(x, u) \wedge y + x \wedge D(y, u)) \\
 = & D(v, u) \wedge D(x, y) + v \wedge D(D(x, y), u) - v \wedge D(D(x, u), y) - v \wedge D(x, D(y, u)) \\
 = & \rho_2^R(\{u \otimes D, v \otimes D\})(x \wedge y).
 \end{aligned}$$

Finally, we have

$$\begin{aligned}
 & (\rho_2^R(v \otimes D) \circ \rho_2^L(u \otimes D) + \rho_2^R(v \otimes D) \circ \rho_2^R(u \otimes D))(x \wedge y) \\
 = & \rho_2^R(v \otimes D) \circ (D(x, u) \wedge y + x \wedge D(y, u)) + \rho_2^R(v \otimes D) \circ (u \wedge D(x, y)) \\
 = & v \wedge D(D(x, u), y) + v \wedge D(x, D(y, u)) + v \wedge D(u, D(x, y)) \\
 = & 0.
 \end{aligned}$$

Therefore, (ρ_2^L, ρ_2^R) is a representation of $\mathfrak{g} \otimes \mathbb{K}D$ on $\wedge^2 \mathfrak{g}$. ■

Now we are ready to give the main result in this section.

Theorem 4.4. *Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra and $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ a generalized derivation. Then $(\wedge^2 \mathfrak{g}, \mathfrak{g} \otimes \mathbb{K}D)$ is a matched pair of Leibniz algebras, whose double is the Leibniz algebra on the space of fundamental objects associated to the generalized derivation extension $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$.*

Proof. One can show that conditions (i)-(vi) in Definition 2.1 hold directly. Thus, $(\wedge^2 \mathfrak{g}, \mathfrak{g} \otimes \mathbb{K}D)$ is a matched pair of Leibniz algebras. Here we use a different approach to prove this theorem. Using the isomorphism between $\wedge^2(\mathfrak{g} \oplus \mathbb{K}D)$ and $\wedge^2 \mathfrak{g} \oplus (\mathfrak{g} \otimes \mathbb{K}D)$, the Leibniz algebra structure on $\wedge^2(\mathfrak{g} \oplus \mathbb{K}D)$ is given by

$$\begin{aligned}
 & [x_1 \wedge y_1 + z_1 \otimes D, x_2 \wedge y_2 + z_2 \otimes D]_{\mathfrak{F}} \\
 = & [x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} + [x_1 \wedge y_1, z_2 \otimes D]_{\mathfrak{F}} + [z_1 \otimes D, x_2 \wedge y_2]_{\mathfrak{F}} + [z_1 \otimes D, z_2 \otimes D]_{\mathfrak{F}} \\
 = & [x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} + [x_1, y_1, z_2]_{\mathfrak{g}} \otimes D + z_2 \otimes D(x_1, y_1) \\
 & + D(x_2, z_1) \wedge y_2 + x_2 \wedge D(y_2, z_1) + D(z_2, z_1) \otimes D \\
 = & [x_1 \wedge y_1, x_2 \wedge y_2]_{\mathfrak{F}} + \{z_1 \otimes D, z_2 \otimes D\} + \rho_1^L(x_1, y_1)(z_2 \otimes D) \\
 & + \rho_2^L(z_1 \otimes D)(x_2 \wedge y_2) + \rho_2^R(z_2 \otimes D)(x_1 \wedge y_1).
 \end{aligned}$$

Thus, by Lemma 2.2, we deduce that $(\wedge^2 \mathfrak{g}, \mathfrak{g} \otimes \mathbb{K}D)$ is a matched pair of Leibniz algebras. ■

Example 4.5. Consider the generalized derivation extension given in Example 3.11. The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 1-dimensional Leibniz algebra with the basis $e_1 \wedge e_2$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 2-dimensional Lie algebra which is isomorphic to the one given by (10). Here $\rho_1^L = \rho_1^R = 0$, and ρ_2^L, ρ_2^R are given by

$$\begin{aligned}
 \rho_2^L(e_1 \otimes D)(e_1 \wedge e_2) &= D(e_1, e_1) \wedge e_2 + e_1 \wedge D(e_2, e_1) = -e_1 \wedge e_1 = 0, \\
 \rho_2^L(e_2 \otimes D)(e_1 \wedge e_2) &= D(e_1, e_2) \wedge e_2 + e_1 \wedge D(e_2, e_2) = e_1 \wedge e_2, \\
 \rho_2^R(e_1 \otimes D)(e_1 \wedge e_2) &= e_1 \wedge D(e_1, e_2) = e_1 \wedge e_1 = 0, \\
 \rho_2^R(e_2 \otimes D)(e_1 \wedge e_2) &= e_2 \wedge D(e_1, e_2) = e_2 \wedge e_1.
 \end{aligned}$$

Example 4.6. Consider the generalized derivation extension given in Example 3.12.

- (i) The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 3-dimensional Leibniz algebra with the basis $\{e_1 \wedge e_2, e_1 \wedge e_3, e_2 \wedge e_3\}$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 3-dimensional Lie algebra which is isomorphic to the one given by (11). Here $\rho_1^L = \rho_1^R = 0$, and nontrivial ρ_2^L, ρ_2^R are given by

$$\begin{aligned}\rho_2^L(e_2 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_3, \\ \rho_2^R(e_2 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_3.\end{aligned}$$

Thus, it is straightforward to see that the Leibniz algebra on the space of fundamental objects is a Lie algebra.

- (ii) The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 3-dimensional Leibniz algebra with the basis $\{e_1 \wedge e_2, e_1 \wedge e_3, e_2 \wedge e_3\}$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 3-dimensional Lie algebra which is isomorphic to the one given by (12). Here $\rho_1^L = \rho_1^R = 0$, and nontrivial ρ_2^L, ρ_2^R are given by

$$\begin{aligned}\rho_2^L(e_2 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_3, \\ \rho_2^L(e_1 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_1 \wedge e_3) &= e_2 \wedge e_3, \\ \rho_2^R(e_2 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_3, \\ \rho_2^R(e_1 \otimes D)(e_1 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_1 \wedge e_3) &= -e_2 \wedge e_3.\end{aligned}$$

Thus, the Leibniz algebra on the space of fundamental objects is also a Lie algebra.

- (iii) The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 3-dimensional Leibniz algebra with the basis $\{e_1 \wedge e_2, e_1 \wedge e_3, e_2 \wedge e_3\}$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 3-dimensional Lie algebra which is isomorphic to the one given by (13). Here $\rho_1^L = \rho_1^R = 0$, and nontrivial ρ_2^L, ρ_2^R are given by

$$\begin{aligned}\rho_2^L(e_1 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^L(e_2 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, \\ \rho_2^L(e_3 \otimes D)(e_1 \wedge e_2) &= 2e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_1 \wedge e_3) &= e_1 \wedge e_3, \\ \rho_2^L(e_3 \otimes D)(e_2 \wedge e_3) &= e_2 \wedge e_3, & \rho_2^R(e_1 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, \\ \rho_2^R(e_2 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_3, \\ \rho_2^R(e_3 \otimes D)(e_2 \wedge e_3) &= -e_2 \wedge e_3.\end{aligned}$$

- (iv) The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 3-dimensional Leibniz algebra with the basis $\{e_1 \wedge e_2, e_1 \wedge e_3, e_2 \wedge e_3\}$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 3-dimensional Lie algebra which is isomorphic to the one given by (14). Here $\rho_1^L = \rho_1^R = 0$, and nontrivial ρ_2^L, ρ_2^R are given by

$$\begin{aligned}\rho_2^L(e_1 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^L(e_2 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, \\ \rho_2^L(e_2 \otimes D)(e_2 \wedge e_3) &= \alpha e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_1 \wedge e_2) &= e_1 \wedge e_2, \\ \rho_2^L(e_3 \otimes D)(e_1 \wedge e_3) &= e_2 \wedge e_3, & \rho_2^L(e_3 \otimes D)(e_2 \wedge e_3) &= (\alpha e_1 + e_2) \wedge e_3, \\ \rho_2^R(e_1 \otimes D)(e_1 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^R(e_1 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, \\ \rho_2^R(e_2 \otimes D)(e_2 \wedge e_3) &= -\alpha e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_1 \wedge e_3) &= -e_2 \wedge e_3, \\ \rho_2^R(e_3 \otimes D)(e_2 \wedge e_3) &= -(\alpha e_1 + e_2) \wedge e_3.\end{aligned}$$

- (v) The corresponding Leibniz algebra on the space of fundamental objects is a matched pair of $\wedge^2 \mathfrak{g}$ and $\mathfrak{g} \otimes \mathbb{K}D$, where $\wedge^2 \mathfrak{g}$ is an abelian 3-dimensional Leibniz algebra with the basis

$\{e_1 \wedge e_2, e_1 \wedge e_3, e_2 \wedge e_3\}$ and $\mathfrak{g} \otimes \mathbb{K}D$ is a 3-dimensional Lie algebra which is isomorphic to the one given by (15). Here $\rho_1^L = \rho_1^R = 0$, and nontrivial ρ_2^L, ρ_2^R are given by

$$\begin{aligned} \rho_2^L(e_2 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_2 \wedge e_3) &= e_1 \wedge e_3, \\ \rho_2^L(e_1 \otimes D)(e_1 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^L(e_3 \otimes D)(e_1 \wedge e_3) &= e_2 \wedge e_3, \\ \rho_2^L(e_1 \otimes D)(e_1 \wedge e_2) &= -e_1 \wedge e_3, & \rho_2^L(e_2 \otimes D)(e_1 \wedge e_2) &= -e_2 \wedge e_3, \\ \rho_2^R(e_2 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_2 \wedge e_3) &= -e_1 \wedge e_3, \\ \rho_2^R(e_1 \otimes D)(e_1 \wedge e_3) &= e_1 \wedge e_2, & \rho_2^R(e_3 \otimes D)(e_1 \wedge e_3) &= -e_2 \wedge e_3, \\ \rho_2^R(e_1 \otimes D)(e_1 \wedge e_2) &= e_1 \wedge e_3, & \rho_2^R(e_2 \otimes D)(e_1 \wedge e_2) &= e_2 \wedge e_3. \end{aligned}$$

Thus, the Leibniz algebra on the space of fundamental objects is also a Lie algebra.

5 Nambu-Poisson structures

In this section, we analyze the Nambu-Poisson structure associated to a generalized derivation extension. Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra such that it induces a linear Nambu-Poisson structure $\pi_{\mathfrak{g}}$ on \mathfrak{g}^* . Let $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ be a generalized derivation, and π_D the corresponding linear Poisson structure on \mathfrak{g}^* . Let $\{e_1, \dots, e_n\}$ be a basis of \mathfrak{g} , which can be viewed as coordinate functions on \mathfrak{g}^* . Then π_D is given by

$$\pi_D = \sum_{i < j} D(e_i, e_j) \frac{\partial}{\partial e_i} \wedge \frac{\partial}{\partial e_j}.$$

It is obvious that $\{e_1, \dots, e_n, D\}$ constitute a basis of $\mathfrak{g} \oplus \mathbb{K}D$. $\frac{\partial}{\partial D}$ is a constant vector field on $(\mathfrak{g} \oplus \mathbb{K}D)^*$ satisfying $\frac{\partial D}{\partial D} = 1$ and $\frac{\partial e_i}{\partial D} = 0$.

Theorem 5.1. *Let $(\mathfrak{g}, [\cdot, \cdot, \cdot]_{\mathfrak{g}})$ be a 3-Lie algebra such that it induces a linear Nambu-Poisson structure $\pi_{\mathfrak{g}}$ on \mathfrak{g}^* , and $D : \wedge^2 \mathfrak{g} \rightarrow \mathfrak{g}$ a generalized derivation on \mathfrak{g} . Then*

$$\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D \in \mathfrak{X}^3((\mathfrak{g} \oplus \mathbb{K}D)^*)$$

is the Nambu-Poisson structure corresponding to the 3-Lie algebra $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot, \cdot]_D)$ if and only if

$$\pi_D^\sharp(df) \wedge \pi_D = 0, \quad \forall f \in C^\infty(M).$$

Proof. $\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D$ is a Nambu-Poisson structure if and only if for all $\phi, \varphi \in C^\infty((\mathfrak{g} \oplus \mathbb{K}D)^*)$, there holds:

$$L_{(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D)^\sharp(d\phi \wedge d\varphi)}(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D) = 0. \quad (19)$$

For all $f, g \in C^\infty(\mathfrak{g}^*)$, by the fact $\pi_{\mathfrak{g}}$ is a Nambu-Poisson structure, we have

$$\begin{aligned} & L_{(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D)^\sharp(df \wedge dg)}(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D) \\ &= L_{\pi_{\mathfrak{g}}^\sharp(df \wedge dg)}\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge L_{\pi_{\mathfrak{g}}^\sharp(df \wedge dg)}\pi_D + L_{\langle \pi_D, df \wedge dg \rangle \frac{\partial}{\partial D}}\pi_{\mathfrak{g}} \\ &= \frac{\partial}{\partial D} \wedge (L_{\pi_{\mathfrak{g}}^\sharp(df \wedge dg)}\pi_D - \iota_{d\langle \pi_D, df \wedge dg \rangle}\pi_{\mathfrak{g}}). \end{aligned}$$

For all $f \in C^\infty(\mathfrak{g}^*)$ and $\mu \in C^\infty((\mathbb{K}D)^*)$, we have

$$\begin{aligned} & L_{(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D)^\#(d\mu \wedge df)}(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D) \\ &= L_{\frac{\partial \mu}{\partial D} \pi_D^\#(df)}(\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D) \\ &= \frac{\partial \mu}{\partial D} L_{\pi_D^\#(df)} \pi_{\mathfrak{g}} - \frac{\partial^2 \mu}{\partial D^2} \pi_D^\#(df) \wedge \pi_D + \frac{\partial \mu}{\partial D} \frac{\partial}{\partial D} \wedge L_{\pi_D^\#(df)} \pi_D. \end{aligned}$$

Therefore, $\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D$ is a Nambu-Poisson structure if and only if the following equalities hold:

$$L_{\pi_{\mathfrak{g}}^\#(df \wedge dg)} \pi_D - \iota_{d\langle \pi_D, df \wedge dg \rangle} \pi_{\mathfrak{g}} = 0, \quad (20)$$

$$L_{\pi_D^\#(df)} \pi_{\mathfrak{g}} = 0, \quad (21)$$

$$L_{\pi_D^\#(df)} \pi_D = 0, \quad (22)$$

$$\pi_D^\#(df) \wedge \pi_D = 0. \quad (23)$$

First it is obvious that (22) is equivalent to that π_D is a Lie-Poisson structure corresponding to the Lie algebra structure D . That is, (22) is equivalent to Condition (c) in Definition 3.1. Then (21) is equivalent to Condition (a) in Definition 3.1. In fact, for linear functions $x, y, z, u \in \mathfrak{g}$ on \mathfrak{g}^* , we have

$$\begin{aligned} & \langle L_{\pi_D^\#(dx)} \pi_{\mathfrak{g}}, dy \wedge dz \wedge du \rangle \\ &= \pi_D^\#(dx) \langle \pi_{\mathfrak{g}}, dy \wedge dz \wedge du \rangle - \langle \pi_{\mathfrak{g}}, (L_{\pi_D^\#(dx)} dy) \wedge dz \wedge du \rangle \\ & \quad - \langle \pi_{\mathfrak{g}}, dy \wedge (L_{\pi_D^\#(dx)} dz) \wedge du \rangle - \langle \pi_{\mathfrak{g}}, dy \wedge dz \wedge (L_{\pi_D^\#(dx)} du) \rangle \\ &= \pi_D^\#(dx) [y, z, u]_{\mathfrak{g}} - \langle \pi_{\mathfrak{g}}, d\langle \pi_D^\#(dx), dy \rangle \wedge dz \wedge du \rangle \\ & \quad - \langle \pi_{\mathfrak{g}}, dy \wedge d\langle \pi_D^\#(dx), dz \rangle \wedge du \rangle - \langle \pi_{\mathfrak{g}}, dy \wedge dz \wedge d\langle \pi_D^\#(dx), du \rangle \rangle \\ &= D(x, [y, z, u]_{\mathfrak{g}}) - [D(x, y), z, u]_{\mathfrak{g}} - [y, D(x, z), u]_{\mathfrak{g}} - [y, z, D(x, u)]_{\mathfrak{g}}, \end{aligned}$$

which implies that (21) is equivalent to Condition (a). Finally, we have

$$\begin{aligned} & \langle L_{\pi_{\mathfrak{g}}^\#(dx \wedge dy)} \pi_D - \iota_{d\langle \pi_D, dx \wedge dy \rangle} \pi_{\mathfrak{g}}, dz \wedge du \rangle \\ &= \pi_{\mathfrak{g}}^\#(dx \wedge dy) \langle \pi_D, dz \wedge du \rangle - \langle \pi_D, L_{\pi_{\mathfrak{g}}^\#(dx \wedge dy)} dz \wedge du \rangle - \langle \pi_D, dz \wedge L_{\pi_{\mathfrak{g}}^\#(dx \wedge dy)} du \rangle \\ & \quad - \langle \pi_{\mathfrak{g}}, d\langle \pi_D, dx \wedge dy \rangle \wedge dz \wedge du \rangle \\ &= [x, y, D(z, u)]_{\mathfrak{g}} - D([x, y, z]_{\mathfrak{g}}, u) - D(z, [x, y, u]) - [D(x, y), z, u]_{\mathfrak{g}}, \end{aligned}$$

which implies that (20) is equivalent to Condition (b) in Definition 3.1. Thus, $\pi_{\mathfrak{g}} + \frac{\partial}{\partial D} \wedge \pi_D$ is a Nambu-Poisson structure if and only if (23) holds. It is straightforward to see that the corresponding 3-Lie algebra is $(\mathfrak{g} \oplus \mathbb{K}D, [\cdot, \cdot]_D)$. The proof is finished. ■

Remark 5.2. Not every 3-Lie algebra, or more generally n -Lie algebra can give rise to a Nambu-Poisson structure on the dual space. However, it gives rise to a Filippov tensor which was introduced in [12]. A Filippov tensor is a Nambu-Poisson structure if and only if it is a decomposable. The condition in the above theorem guarantee that the corresponding Filippov tensor is decomposable.

References

- [1] A. L. Agore and G. Militaru, Unified products for Leibniz algebras. Applications. *Linear Algebra Appl.* 439 (2013), 2609-2633.
- [2] J. Arnlind, A. Makhlouf and S. Silvestrov, Construction of n -Lie algebras and n -ary Hom-Nambu-Lie algebras. *J. Math. Phys.* **52** (2011), no. 12, 123502.
- [3] R. Bai, C. Bai and J. Wang, Realizations of 3-Lie algebras. *J. Math. Phys.* 51 (2010), 063505.
- [4] R. Bai, G. Song and Y. Zhang, On classification of n -Lie algebras. *Front. Math. China* **6** (2011), no. 4, 581-606.
- [5] R. Bai, Y. Wu, J. Li and H. Zhou, Constructing $(n + 1)$ -Lie algebras from n -Lie algebras. *J. Phys. A* 45 (2012), no. 47, 475206, 10 pp.
- [6] R. Bai, H. Liu and M. Zhang, 3-Lie Algebras Realized by Cubic Matrices. *Chin. Ann. Math.* 35B, (2014), 2, 261-270.
- [7] Y. Daletskii and L. Takhtajan, Leibniz and Lie algebra structures for Nambu algebra. *Lett. Math. Phys.* **39** (1997), 127-141.
- [8] J. A. de Azcárraga and J. M. Izquierdo, n -ary algebras: a review with applications. *J. Phys. A: Math. Theor.* **43** (2010), 293001.
- [9] J. Figueroa-O'Farrill, Deformations of 3-algebras. *J. Math. Phys.* **50** (2009), no. 11, 113514, 27 pp.
- [10] V. T. Filippov, n -Lie algebras. *Sib. Mat. Zh.* **26** (1985) 126-140.
- [11] P. Gautheron, Some remarks concerning Nambu mechanics. *Lett. Math. Phys.* **37** (1996), 103-116.
- [12] J. Grabowski and G. Marmo, On Filippov algebroids and multiplicative Nambu-Poisson structures. *Diff. Geom. Appl.* 12 (2000), 35-50.
- [13] A. Gustavsson, Algebraic structures on parallel M2-branes. *Nucl. Phys. B* 811 (2009), 66-76.
- [14] P. Ho, R. Hou and Y. Matsuo, Lie 3-algebra and multiple M_2 -branes. *J. High Energy Phys.*, no. 6, 020, 30 pp (2008).
- [15] P. Ho, Y. Imamura and Y. Matsuo, M2 to D2 revisited. *JHEP*, 07 (2008), 003.
- [16] W. Ling, On the structure of n -Lie algebras, Dissertation, University GHS-Siegen, Siegen, 1993.
- [17] J. Liu, A. Makhlouf and Y. Sheng, A new approach to representations of 3-Lie algebras and abelian extensions. *Algebr. Represent. Theory* (2017), DOI:10.1007/s10468-017-9693-0.
- [18] J. L. Loday, Une version non commutative des algèbres de Lie: les algèbres de Leibniz. *Enseign. Math.* (2), 39 (1993), 269-293.
- [19] J. L. Loday and T. Pirashvili, Universal enveloping algebras of Leibniz algebras and (co)homology. *Math. Ann.* 296 (1993), 139-158.

- [20] Sh. M. Kasymov, On a theory of n -Lie algebras. (Russian) *Algebra i Logika* **26**, no. 3 (1987) 277–297.
- [21] A. Makhlouf, On Deformations of n -Lie Algebras, Chapter 4 in Non Associative & Non Commutative Algebra and Operator Theory, C.T. Gueye, M.S. Molina (eds.), Springer Proceedings in Mathematics & Statistics **160**, (2016).
- [22] Y. Nambu, Generalized Hamiltonian dynamics. *Phys. Rev. D* **7** (1973) 2405–2412.
- [23] A. Pozhidaev, Simple quotient algebras and subalgebras of Jacobian algebras. *Sib. Math. J.* **39** (1998), 3, 512–517.
- [24] Sheng Y. Linear Poisson structures on R^4 . *J. Geom. Phys.* **57** (2007), 2398–2410.
- [25] L. Takhtajan, On foundation of the generalized Nambu mechanics. *Comm. Math. Phys.* **160** (1994) 295–315.
- [26] L. Takhtajan, A higher order analog of Chevalley-Eilenberg complex and deformation theory of n -algebras. *St. Petersburg Math. J.* **6** (1995) 429–438.